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Dim msg as string

msg =Invalid value: &'” & CellValue &'"

msg = msg & in table: &'” & TableCell &'"

MsgBox msg ,16,"Error message"

End Function
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1.0 DEFINITIONS. 

1.1. "Commercial Use" means distribution or otherwise making
the Documentation available to a third party. 

1.2. "Contributor" means a person or entity who creates or
contributes to the creation of Modifications. 

1.3. "Documentation" means the Original Documentation or
Modifications or the combination of the Original
Documentation and Modifications, in each case including
portions thereof.

1.4. "Electronic Distribution Mechanism" means a mechanism
generally accepted for the electronic transfer of data. 

1.5. "Initial Writer" means the individual or entity identified as
the Initial Writer in the notice required by the Appendix. 

1.6. "Larger Work" means a work which combines
Documentation or portions thereof with documentation or
other writings not governed by the terms of this License. 

1.7. "License" means this document. 

1.8. "Modifications" means any addition to or deletion from the
substance or structure of either the Original Documentation or
any previous Modifications, such as a translation, abridgment,
condensation, or any other form in which the Original
Documentation or previous Modifications may be recast,
transformed or adapted.  A work consisting of editorial
revisions, annotations, elaborations, and other modifications
which, as a whole represent an original work of authorship, is a
Modification.  For example, when Documentation is released
as a series of documents, a Modification is: 

A. Any addition to or deletion from the contents of the Original
Documentation or previous Modifications. 

B. Any new documentation that contains any part of the
Original Documentation or previous Modifications. 

1.9. "Original Documentation" means documentation described
as Original Documentation in the notice required by the
Appendix, and which, at the time of its release under this
License is not already Documentation governed by this
License. 

1.10. "Editable Form" means the preferred form of the
Documentation for making Modifications to it. The
Documentation can be in an electronic, compressed or archival
form, provided the appropriate decompression or de-archiving
software is widely available for no charge. 

1.11. "You" (or "Your") means an individual or a legal entity
exercising rights under, and complying with all of the terms of
this License or a future version of this License issued under
Section 5.0 ("Versions of the License"). For legal entities,
"You" includes any entity which controls, is controlled by, or is
under common control with You. For purposes of this
definition, "control" means (a) the power, direct or indirect, to
cause the direction or management of such entity, whether by
contract or otherwise, or (b) ownership of more than fifty
percent (50%) of the outstanding shares or beneficial
ownership of such entity.

2.0 LICENSE GRANTS. 

2.1  Initial Writer Grant. 

The Initial Writer hereby grants You a world-wide, royalty-free,
non-exclusive license to use, reproduce, prepare Modifications
of, compile, publicly perform, publicly display, demonstrate,
market, disclose and distribute the Documentation in any form,
on any media or via any Electronic Distribution Mechanism or
other method now known or later discovered, and to sublicense
the foregoing rights to third parties through multiple tiers of
sublicensees in accordance with the terms of this License.  

The license rights granted in this Section 2.1 ("Initial Writer
Grant") are effective on the date Initial Writer first distributes
Original Documentation under the terms of this License. 

2.2. Contributor Grant. 

Each Contributor hereby grants You a world-wide, royalty-free,
non-exclusive license to use, reproduce, prepare Modifications
of, compile, publicly perform, publicly display, demonstrate,
market, disclose and distribute the Documentation in any form,
on any media or via any Electronic Distribution Mechanism or
other method now known or later discovered, and to sublicense
the foregoing rights to third parties through multiple tiers of
sublicensees in accordance with the terms of this License.  

The license rights granted in this Section 2.2 ("Contributor
Grant") are effective on the date Contributor first makes
Commercial Use of the Documentation. 

3.0 DISTRIBUTION OBLIGATIONS. 

3.1. Application of License.

The Modifications which You create or to which You contribute
are governed by the terms of this License, including without
limitation Section 2.2 ("Contributor Grant").  The
Documentation may be distributed only under the terms of this
License or a future version of this License released in
accordance with Section 5.0 ("Versions of the License"), and
You must include a copy of this License with every copy of the
Documentation You distribute. You may not offer or impose
any terms that alter or restrict the applicable version of this
License or the recipients' rights hereunder. However, You may
include an additional document offering the additional rights
described in Section 3.5 ("Required Notices"). 


3.2. Availability of Documentation.
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Any Modification which You create or to which You contribute
must be made available publicly in Editable Form under the
terms of this License via a fixed medium or an accepted
Electronic Distribution Mechanism. 

3.3. Description of Modifications.

All Documentation to which You contribute must identify the
changes You made to create that Documentation and the date of
any change. You must include a prominent statement that the
Modification is derived, directly or indirectly, from Original
Documentation provided by the Initial Writer and include the
name of the Initial Writer in the Documentation or via an
electronic link that describes the origin or ownership of the
Documentation.  The foregoing change documentation may be
created by using an electronic program that automatically
tracks changes to the Documentation, and such changes must
be available publicly for at least five years following release of
the changed Documentation. 

3.4. Intellectual Property Matters.

Contributor represents that Contributor believes that
Contributor's Modifications are Contributor's original creation
(s) and/or Contributor has sufficient rights to grant the rights
conveyed by this License.

3.5. Required Notices.

You must duplicate the notice in the Appendix in each file of
the Documentation. If it is not possible to put such notice in a
particular Documentation file due to its structure, then You
must include such notice in a location (such as a relevant
directory) where a reader would be likely to look for such a
notice, for example, via a hyperlink in each file of the
Documentation that takes the reader to a page that describes
the origin and ownership of the Documentation.  If You created
one or more Modification(s) You may add your name as a
Contributor to the notice described in the Appendix. 

You must also duplicate this License in any Documentation file
(or with a hyperlink in each file of the Documentation) where
You describe recipients' rights or ownership rights. 

You may choose to offer, and to charge a fee for, warranty,
support, indemnity or liability obligations to one or more
recipients of Documentation. However, You may do so only on
Your own behalf, and not on behalf of the Initial Writer or any
Contributor. You must make it absolutely clear than any such
warranty, support, indemnity or liability obligation is offered
by You alone, and You hereby agree to indemnify the Initial
Writer and every Contributor for any liability incurred by the
Initial Writer or such Contributor as a result of warranty,
support, indemnity or liability terms You offer. 


3.6.  Larger Works.

You may create a Larger Work by combining Documentation
with other documents not governed by the terms of this
License and distribute the Larger Work as a single product. In
such a case, You must make sure the requirements of this
License are fulfilled for the Documentation.

4.0  APPLICATION OF THIS LICENSE. 

This License applies to Documentation to which the Initial
Writer has attached this License and the notice in the
Appendix.

5.0  VERSIONS OF THE LICENSE. 

5.1. New Versions.

Initial Writer may publish revised and/or new versions of the
License from time to time. Each version will be given a
distinguishing version number. 

5.2. Effect of New Versions.

Once Documentation has been published under a particular
version of the License, You may always continue to use it
under the terms of that version. You may also choose to use
such Documentation under the terms of any subsequent version
of the License published by______________________ [Insert
name of the foundation, company, Initial Writer, or whoever
may modify this License]. No one other than
________________________[Insert name of the foundation,
company, Initial Writer, or whoever may modify this License]
has the right to modify the terms of this License. Filling in the
name of the Initial Writer, Original Documentation or
Contributor in the notice described in the Appendix shall not be
deemed to be Modifications of this License.

6.0 DISCLAIMER OF WARRANTY. 

DOCUMENTATION IS PROVIDED UNDER THIS LICENSE
ON AN "AS IS'' BASIS, WITHOUT WARRANTY OF ANY
KIND, EITHER EXPRESSED OR IMPLIED, INCLUDING,
WITHOUT LIMITATION, WARRANTIES THAT THE
DOCUMENTATION IS FREE OF DEFECTS,
MERCHANTABLE, FIT FOR A PARTICULAR PURPOSE
OR NON-INFRINGING. THE ENTIRE RISK AS TO THE
QUALITY, ACCURACY, AND PERFORMANCE OF THE
DOCUMENTATION IS WITH YOU. SHOULD ANY
DOCUMENTATION PROVE DEFECTIVE IN ANY
RESPECT, YOU (NOT THE INITIAL WRITER OR ANY
OTHER CONTRIBUTOR) ASSUME THE COST OF ANY
NECESSARY SERVICING, REPAIR OR CORRECTION.
THIS DISCLAIMER OF WARRANTY CONSTITUTES AN
ESSENTIAL PART OF THIS LICENSE. NO USE OF ANY
DOCUMENTATION IS AUTHORIZED HEREUNDER
EXCEPT UNDER THIS DISCLAIMER.

7.0 TERMINATION. 

This License and the rights granted hereunder will terminate
automatically if You fail to comply with terms herein and fail to
cure such breach within 30 days of becoming aware of the
breach. All sublicenses to the Documentation which are
properly granted shall survive any termination of this License.
Provisions which, by their nature, must remain in effect beyond
the termination of this License shall survive. 

8.0 LIMITATION OF LIABILITY. 

�����������	
��
��
������ ���



($,���
#��$���	�	���
4������5
6������
��2

UNDER NO CIRCUMSTANCES AND UNDER NO LEGAL
THEORY, WHETHER IN TORT (INCLUDING
NEGLIGENCE), CONTRACT, OR OTHERWISE, SHALL
THE INITIAL WRITER, ANY OTHER CONTRIBUTOR, OR
ANY DISTRIBUTOR OF DOCUMENTATION, OR ANY
SUPPLIER OF ANY OF SUCH PARTIES, BE LIABLE TO
ANY PERSON FOR ANY DIRECT, INDIRECT, SPECIAL,
INCIDENTAL, OR CONSEQUENTIAL DAMAGES OF ANY
CHARACTER INCLUDING, WITHOUT LIMITATION,
DAMAGES FOR LOSS OF GOODWILL, WORK
STOPPAGE, COMPUTER FAILURE OR MALFUNCTION,
OR ANY AND ALL OTHER DAMAGES OR LOSSES
ARISING OUT OF OR RELATING TO THE USE OF THE
DOCUMENTATION, EVEN IF SUCH PARTY SHALL
HAVE BEEN INFORMED OF THE POSSIBILITY OF SUCH
DAMAGES. 

9.0 U.S. GOVERNMENT END USERS. 

If Documentation is being acquired by or on behalf of the U.S.
Government or by a U.S. Government prime contractor or
subcontractor (at any tier), then the Government's rights in
Documentation will be only as set forth in this Agreement; this
is in accordance with 48 CFR 227.7201 through 227.7202-4
(for Department of Defense (DOD) acquisitions) and with 48
CFR 2.101 and 12.212 (for non-DOD acquisitions).

10.0 MISCELLANEOUS. 

This License represents the complete agreement concerning the
subject matter hereof. If any provision of this License is held to
be unenforceable, such provision shall be reformed only to the
extent necessary to make it enforceable. This License shall be
governed by California law, excluding its conflict-of-law
provisions. With respect to disputes or any litigation relating to
this License, the losing party is responsible for costs, including
without limitation, court costs and reasonable attorneys' fees
and expenses. The application of the United Nations
Convention on Contracts for the International Sale of Goods is
expressly excluded. Any law or regulation which provides that
the language of a contract shall be construed against the drafter
shall not apply to this License.

Appendix 

Public Documentation License Notice 

The contents of this Documentation are subject to the Public
Documentation License Version 1.0 (the "License"); you may
only use this Documentation if you comply with the terms of
this License. A copy of the License is available at
http://www.openoffice.org/licenses/PDL.rtf. 

The Original Documentation is _________________. The
Initial Writer of the Original Documentation is
______________________ (C) ____. All Rights Reserved.
(Initial Writer contact(s):_______________[Insert
hyperlink/alias].)

Contributor(s):
______________________________________. 

Portions created by ______ are Copyright (C)_________[Insert
year(s)]. All Rights Reserved.   (Contributor contact(s):
________________[Insert hyperlink/alias]).

Note: The text of this Appendix may differ slightly from the
text of the notices in the files of the Original Documentation.
You should use the text of this Appendix rather than the text
found in the Original Documentation for Your Modifications.

�����������	
��
��
������ ���

http://www.openoffice.org/licenses/PDL.rtf

	Copyright and trademark information
	Feedback
	Acknowledgments
	Modifications and updates

	Contents
	Overview
	Using the Guide

	Chapter 1: Using OpenOffice.org Help
	OpenOffice.org Step-by-Step Help
	Tips
	Turning tips on and off
	Extended Tips
	Turning extended tips on and off


	Help Agent
	Turning the Help Agent on and off


	Chapter 2: Working With OpenOffice.org
	
	The User Interface
	Starting OpenOffice.org
	The OpenOffice.org Writer Window
	Toolbars in the OpenOffice.org Window
	The Title Bar
	The Menu Bar
	The Toolbars
	Using Floating Toolbars
	The document window
	Docking windows


	Opening and Saving Documents
	Opening Documents

	The Templates and Documents dialogue
	Saving Documents
	Changing the Work Directory
	Saving Documents Automatically
	Backup a File Automatically
	Saving Files Automatically Every 'n' Minutes

	Properties

	OpenOffice.org File Formats
	XML file format names
	OpenOffice.org XML file structure
	Definition of the XML formats

	Sending Documents as E-Mail
	Printing Documents
	Displaying Print Previews
	Reduced Printing of Documents
	To print two pages beside one another on one sheet of paper

	Printing in Black and White
	Printing text and graphics in black and white
	Printing in black and white in Impress and Draw
	Printing only text in black and white
	Printing all text documents with black and white text
	Printing the current text document with black and white text

	Printing Brochures


	Spellcheck
	Automatic Spellcheck
	Checking Multilingual Texts
	Starting the Spellcheck
	Excluding Text From the Spellcheck


	Using Automatic Functions
	Using AutoCorrect and AutoFormat
	Turning off URL Recognition by AutoCorrect
	Undo URL recognition
	Turn off URL recognition

	Other AutoCorrect functions

	Creating a Letter Template With the AutoPilot
	Find & Replace
	Finding a Word in Text
	Searching for Whole Words Only
	Match Case
	Searching for Text With Wildcards
	Searching Backward
	Current Selection Only
	Searching for Styles
	Searching for Attributes
	Searching for Special Formats
	Similarity Search

	List of Regular Expressions


	Chapter 3: Managing Text Documents With Writer
	The OpenOffice.org Writer Functions
	Writing
	Designing and Structuring
	Desktop Publishing with OpenOffice.org Writer
	Calculations
	Creating Drawings
	Inserting Graphics
	Customizable Program Interface
	Drag&Drop
	Extensive Help Functions

	The OpenOffice.org Writer Window
	Windows® of OpenOffice.org Writer

	Entering and Formatting Text
	Entering New Text
	To enter new text:
	Line breaks
	Automatic correction
	Word completion

	Inserting Text
	Switching Between Insert Mode and Overwrite Mode
	Using the keyboard:
	Using the mouse:

	Entering Text Anywhere on a Page
	Selecting and Deleting Text
	Deleting characters
	Deleting text
	Selecting text to delete with the mouse
	Selecting text to delete with the keyboard
	Deleting non-adjacent pieces of text.
	Setting the Viewing Zoom Factor


	Keyboard Navigating and Selection in Writer
	Inserting Special Characters
	Inserting Protected Spaces, Hyphens and Conditional Separators
	Non-breaking spaces
	Non-breaking hyphen
	Hyphen, em-dash and en-dash
	Manual Hyphenation

	Emphasizing Text
	Changing the colour of Text
	Rotating Text
	Defining Borders
	Choose Format from the menu bar, Borders tab page
	Use the Borders floating toolbar with Tables

	Superscripts and Subscripts
	Making text superscript/subscript while typing
	Applying subscripts/superscripts retrospectively

	Writing in Uppercase or Lowercase
	Moving Text Sections in Documents
	Resetting Font Attributes While Typing
	Example procedure for resetting Font Attributes

	Chapters in Navigator
	Quick Formatting Using the Adjacent Paragraph Format
	Using Sections
	Sections and Columns
	Inserting Sections
	Editing Sections

	Formatting Text With and Without Styles
	Direct Formatting or Formatting With Styles

	The Style Concept in OpenOffice.org
	The Styles in the Stylist
	Paragraph Styles
	Paragraph Style.
	Character Styles
	Hierarchical Styles
	Numbering Styles
	Creating New Character Styles or Paragraph Styles
	Creating Document Templates
	The Advantages of the Stylist
	Formatting Multiple Paragraphs
	Changing a Style the Easy Way
	Page Styles and Page Numbers
	Create Page Styles
	Editing Page Styles
	Page Breaks as Paragraph Formats
	Changing the Format of Page Numbers
	Page Styles Summary


	Defining default Templates
	Templates and Styles
	Creating New Styles From Selections
	New Style from Selection
	Transferring Formats With Fill Format Mode
	Updating Styles From Selections
	This is how to update a Style:
	Style can also be updated by using drag and drop:

	Copying Styles into Documents

	Entering and Formatting Text Automatically
	Disabling the AutoCorrect Function
	ASCII Quotation marks are replaced with Custom Quotes
	Sentences always begin with a capital letter
	Three identical characters will become a whole line

	Automatic Spellcheck
	To exclude words from the spellcheck:


	Using AutoText
	Defining AutoText
	Using AutoText in Networks
	Printing AutoTexts

	AutoText With AutoComplete
	Exceptions in AutoCorrect
	Example


	Moving Text, Drawing Lines
	Inserting, Editing and Linking Text Frames
	Inserting Text Frames
	Editing Text Frames
	Linking Text Frames


	Using Text Animation
	Drawing Lines in Text
	Editing Text With FontWork
	Aligning Text With Lines
	Aligning text on a free form line

	Aligning text with straight lines
	The Navigator
	Jumping From One Object to Another in Text
	Jumping From One Reminder to Another
	Jumping to a Specific Page
	Other Navigator Features

	Indexes and Tables of Contents in Writer
	Defining Index/Table of Contents Entries
	Editing or Deleting Index and Table Entries
	Creating a Table of Contents
	Creating Alphabetical Indexes
	Using a Concordance File

	Creating User-Defined Indexes
	Creating Bibliographies
	Updating, Editing and Deleting Indexes and Tables of Contents
	Editing the Format of an Index/Table of Contents
	Indexes Covering Multiple Documents

	Headings and Numbering
	Numbering and Numbering Styles
	Turning Bullets On and Off
	Turning Numbering On and Off
	Example numbered list with sublevels:

	Outline Numbering
	Automatic Numbering/Bullets
	Numbering Illustrations by Chapters
	Defining Number Ranges

	Using Master Documents and Subdocuments
	Importing Lists From Other Text Programs
	Changing Numbering via the Keyboard

	Interrupting and Continuing Numbering
	Delete the automatic numbering
	Formatting the paragraph
	Continuing numbering with a new starting value

	Numbering Lines
	Line Numbering for All Paragraphs
	Line Numbering for Particular Paragraphs

	Tables in Text
	Inserting Tables
	Inserting an empty table using the mouse:
	Inserting an empty table via the Insert menu or floating toolbar:
	Inserting from OpenOffice.org Calc with the clipboard
	Inserting from OpenOffice.org Calc using drag-and-drop

	Deleting Tables
	Inserting Paragraphs Before Tables at Start of Page
	Formatting Tables in Text Documents

	Calculating in Text Documents
	Formulas in Text Documents
	Formula Options
	Basic Calculation Functions
	Basic Functions in the Submenu
	Operators
	Statistical Functions
	Trigonometric Functions
	More Defined Values


	Calculating in Text
	Calculating With Formulas Located in Text
	Conditional Text
	An Example of Defining and using conditional
	Defining a conditional variable:
	Defining a condition and the conditional text:

	Displaying the conditional text:

	Calculating in Text Document Tables

	To display the conditional text:
	Calculating in Text Document Tables
	Calculating Across Multiple Tables
	Calculating Cell Totals in Tables
	Merging and Splitting Cells
	Merging Cells in OpenOffice.org Writer
	Splitting Cells in OpenOffice.org Writer
	Merging Cells in OpenOffice.org Calc
	Canceling the merging of cells in OpenOffice.org Calc

	Inserting or Deleting Rows/Columns Using the Keyboard
	Repeating Several Heading Rows in Tables
	Enlarging and Reducing Cells in Text Tables
	Adapting Table Widths
	Copying Calc Sheet Areas to Text Documents

	Images, Drawings, Clipart and FontWork
	Positioning Objects
	Captions and Number Ranges
	Defining Captions
	Editing or deleting captions
	Inserting an object in a number range

	Numbering Illustrations by Chapters
	Inserting Graphics
	Inserting Graphics via dialogue
	Inserting Graphics From OpenOffice.org Draw or Impress
	Inserting Graphics via Drag and Drop From the Gallery
	Inserting Graphics With a Scanner

	Inserting a Chart From OpenOffice.org Calc
	Dragging and Dropping a Copy of the Chart
	Charts with Linked Data

	Inserting Decorative Horizontal Lines

	Headers, Footers and Footnotes
	Some Notes Concerning Headers and Footers
	Inserting Page Numbers in Footers
	Inserting Chapter Information in Headers
	Defining Different Headers
	Inserting Page Numbers of Continuation Pages
	Inserting Lines Under Headers
	Footnotes and Endnotes
	Inserting and Editing Footnotes
	Inserting a footnote via an icon
	Inserting a footnote via a dialogue
	Tips for Working with Footnotes

	Spacing Between Footnotes

	Spellcheck, Dictionaries, Hyphenation
	Controlling the Spellcheck via dialogue
	Automatic Spellcheck
	To exclude words from the spellcheck:

	Removing Words From User-Defined Dictionaries
	Hyphenation
	Automatic hyphenation
	Manual Hyphenation

	Thesaurus

	Form Letters, Business Cards and Labels
	Creating Form Letters
	Brief Instructions (For Quick Results)
	Fixed and Variable Fields

	Creating and Printing Labels and Business Cards
	Designing Business Cards via dialogue
	Designing Labels and Business Cards
	Printing Labels With Serial Numbers
	Printing Address Labels

	Avoiding Blank Paragraphs

	Newsletters
	Creating a Newsletter From a Template
	Creating Page Styles
	Editing Headers
	Editing Columns
	Editing Paragraph Styles
	Working with Frames
	Formatting a Frame
	Anchoring Frames
	Defining a Frame Wrap

	Defining a Wrap Region
	Linking Frames and Facilitating Text Flow
	Using coloured or Graphic Backgrounds
	Creating a Table of Contents
	Further Information
	Using Automatic Hyphenation


	Letters With Envelopes
	Using a Ready-Made Letter Template
	Creating a Letter Template Using the AutoPilot
	Creating an Envelope
	Inserting an Envelope into a Document
	Adjusting the Printer for the Printout

	Applying Various Fonts
	Creating and Printing a Letter With an Envelope
	Summary


	Chapter 4: Spreadsheets in Calc
	Overview of the Functions in Calc
	Calculating
	Database Functions
	Arranging Data
	Examining and Extrapolating Data
	What-If Calculations
	Importing and Exporting Data
	Importing into Calc
	Exporting from Calc

	Referencing Data in Networks and the Internet

	The Calc Window
	Structure of a Spreadsheet
	Rows and Columns
	Multiple Sheets in a Document
	Inserting Sheets
	Renaming Sheets


	Values and Formulas as Cell Contents
	Calculating in Spreadsheets
	Using Built-in Functions
	A Short Description of What Cells Can Contain
	Text
	Numbers

	Calculating With Formulas
	Calculating With Dates and Times
	Inserting and Editing Notes

	Handling Multiple Sheets
	Displaying Multiple Sheets
	Working With Multiple Sheets
	Printing Spreadsheets

	Formatting a Spreadsheet
	Formating Numbers
	Dates

	Formatting Cells and Sheets
	Using AutoFormat for Tables

	Layout of Spreadsheets
	Designing Spreadsheets Clearly
	Formatting Text in a Spreadsheet
	Formatting Numbers in a Spreadsheet
	Formatting Borders and Backgrounds for Cells and Pages

	Addressing Cells
	Addresses and References, Absolute and Relative
	Relative Addressing
	Absolute Addressing
	When to Use Relative and Absolute References

	Addressing by Name
	Recognizing Names as Addressing
	Only Copy Visible Cells
	Referencing a Cell in Another Document

	Using References in Formulas
	References to Other Sheets

	Using Charts
	Editing Chart Titles
	Editing Chart Legends
	Adding Texture to Chart Bars
	Editing Chart Axis

	Database Functions in Calc
	Defining Database Ranges
	Creating Records in a Spreadsheet
	Defining Database Ranges
	Sorting Database Ranges
	Filtering Database Ranges
	Grouping Database Ranges and Calculating Subtotals
	Transferring Data From a Data Source to a Spreadsheet
	Opening a Database File in Calc
	Dragging and Dropping Copies into Spreadsheets


	Evaluating Data With Calc
	DataPilot
	What use is the DataPilot?
	Creating DataPilot Tables
	Selecting DataPilot Output Ranges
	Editing DataPilot Tables
	Filtering DataPilot Tables
	Updating DataPilot Tables
	Deleting DataPilot Tables

	Consolidating Data
	Applying Goal Seek
	Naming Cells
	Start Goal Seek
	Applying Multiple Operations
	Multiple Operations in Columns or Rows
	Examples
	Calculating With One Formula and One Variable
	Calculating with Several Formulas Simultaneously

	Multiple Operations Across Rows and Columns
	Calculating with Two Variables


	Using Scenarios
	Using Ready-Made Scenarios
	Creating Personal Scenarios

	Validity of Cell Contents
	Using Cell Contents Validity
	Sample macro:

	Printing or Exporting Spreadsheets
	Printing Sheet Details
	Defining Number of Pages for Printing
	Printing Sheets in Landscape Format
	Printing Rows or Columns on Every Page

	Saving and Opening Sheets in HTML
	Saving Sheets in HTML
	Opening Sheets in HTML

	Formulas and Values as CSV Files
	Exporting Formulas and Values as CSV Files
	Importing a CSV File

	AutoFill
	Applying Sort Lists
	Automatic Row Filling
	Protecting Sheets
	Creating a Reference
	Further Information
	Inserting a note
	Inserting a sheet into another document
	Displaying formulas
	Using print ranges
	Freezing Columns
	Splitting a Calc Window
	Conditional Formatting
	Defining Validity
	Creating Input Help
	Linking Sheet Information


	Chapter 5: Creating Presentations With Impress
	OpenOffice.org Impress Toolbars and Windows®
	How to Create a Basic Presentation
	Creating a Presentation With the AutoPilot
	Creating a Simple Presentation Without the AutoPilot
	Switching Presentation Views
	Arranging Slides
	Incorporating Slide Show Effects
	Showing a Presentation

	Editing Presentations
	Defining Background colours
	Switching Page Styles
	Presentation Styles

	Using Outline View
	Slide Transitions, Effects and Animation
	Automatic Slide Transition
	Effects for Objects
	Selecting Hidden Objects
	Individual Presentations

	Exporting, Printing and Presenting
	Printing a Presentation Slide
	Exporting Presentations as Web Pages
	Exchanging Data via the Clipboard

	Creating a Business Report
	Creating a Business Report in Presentation Form
	Entering Text in the Outline View
	Changing the Slide Layout
	Designing Slides

	Creating a Slide Show
	Defining or Changing Slide Order
	Creating Cross-Fade Effects
	Starting Presentations

	Working with Connectors
	"Edge to Edge” Connectors
	"Middle to Middle” Connectors
	Editing Connectors
	Using a Snap Grid
	Editing Glue Points

	Hints and Tips for a Successful Presentation
	Using the Mouse as a Pointer
	Changing Bullet Symbols in Outline View
	Inserting, Deleting and Renaming Slides
	Creating and Printing Handouts
	Organizing and Printing Notes
	Using the Navigator
	Edit Jump Targets
	Modifying Object Size
	Creating Additional Objects
	Changing Font and Font Size
	Modifying colours


	Chapter 6: Creating Drawings with Draw
	OpenOffice.org Draw Functions
	Creating and Publishing Vector Graphics
	Creating 3D Objects
	Manage Organization Charts
	Drawing
	Export
	Construct
	Integrate

	The OpenOffice.org Draw Window
	Toolbars and Windows® in OpenOffice.org Draw
	Drawing Rectangles and Ellipses and Entering Text
	Rotating and Resizing Objects

	Arranging and Aligning Objects
	Arranging Objects
	Aligning Objects
	Drawing Sectors and Segments
	Entering Text
	Normal Text
	Fitting Text to Frames
	Callouts
	Converting Text Into 3D

	Drawing, Editing and Converting
	Curves and Objects
	Drawing Curves

	Editing Curves
	Vectorizing Bitmaps
	Converting Text Characters to Curves
	Converting to Curves, Polygons, 3D

	Working With Objects
	Duplicating Objects
	Cross-Fading Between Two Objects
	Grouping Objects
	Entering Groups
	Exiting Groups
	Navigating Between Objects of a Group


	Combining Objects and Constructing Shapes
	Combining Objects
	Constructing Shapes
	Shapes - Merge
	Shapes - Subtract


	Graphic Objects in Drawings and Presentations
	Inserting Bitmaps
	Editing Bitmaps
	Applying Text to Bitmaps

	Saving Bitmaps

	Working With colours
	The colour Bar
	Defining Custom colours
	Replacing colours using the Eyedropper

	Gradients and Patterns for Objects and Background
	Defining Gradients
	Defining a custom colour Gradient
	Interactively Defining a colour Gradient
	Organizing the Attribute Tables

	3D Globe
	Creating Texture on a 3D Object
	Using Illumination
	More 3d Effects
	3D Effects: Favorites
	3D Effects: Geometry
	3D Effects: Shading
	3D Effects: Illumination
	3D Effects: Textures and Material


	Designing 3D Objects From Font Characters
	
	First Step:
	Second Step:
	Third Step:
	Fourth Step:
	Fifth Step:

	Using a Grid

	Mechanical or Construction Drawings
	Creating a Construction Plan
	Using Snap Lines

	Using Dimension Lines
	Working With Multiple Layers
	Using One colour per Layer


	Chapter 7: Databases and Data Sources
	Registering a Data Source
	AddressBooks
	Registering an AddressBook
	Using the AutoPilot to import an AddressBook
	Manually Registering an Existing Address Book
	System Address Book as Data Source

	Importing Data Into OpenOffice.org
	Importing and Exporting Data in Text Format
	Exporting in CSV Text Format

	Database Tables
	Table Design
	Field Properties

	Form Design
	Searching in Tables and Form Documents
	Searching With a Form Filter
	Operators
	Commands
	Examples of Usage



	Chapter 8: Customizing OpenOffice.org
	Modifying and Customizing the User Interface of OpenOffice.org
	Configuring the Keyboard
	Configuring Menus
	Changing Toolbars
	Inserting, Moving and Deleting Icons on Toolbars
	Changing Icon Views

	Changing the Look of the User Interface
	Selecting Measurement Units
	Moving, Deleting or Copying Icons

	Sending Faxes and Configuring OpenOffice.org for Faxing
	Sending a Fax via dialogue
	Configuring OpenOffice.org for Faxing via Icon

	Further Information

	Chapter 9: Advanced Techniques
	Copying and Moving Data Using Drag and Drop
	Dragging and Dropping Within a OpenOffice.org Document
	Inserting Objects From the Gallery
	Inserting an object as a copy
	Inserting an object as a link
	Inserting an object as a background graphic
	Inserting an object as a texture (pattern) for another object

	Copying Graphics From the Gallery
	Inserting Graphics From a Document in the Gallery
	Copying Graphics Between Documents
	Copying Draw Objects into Other Documents
	Inserting a Draw object in a text document
	Inserting a Draw object in a spreadsheet

	Drag and Drop With the Data Source View
	Using data in a text document
	Applying data to a table document
	Inserting controls in a text form

	Copying Sheet Areas to Text Documents
	Inserting Data From Spreadsheets
	Inserting Data From Text Documents
	Copying Text Using Drag and Drop

	Revision Marking Function
	Recording and Displaying Changes
	Accepting or Rejecting Changes
	Comparing Versions of a Document
	Merging Versions
	Recording Changes

	Version Management
	Protecting Contents in OpenOffice.org
	Protecting All Documents When Saving
	Turning on protection
	Turning off protection

	Protecting Revision Marking
	Turning on revision protection
	Turning off revision protection

	Protecting Cell Ranges in Calc
	Protecting Sections in Writer
	Turning on protection
	Turning off protection

	Protecting Cells in a OpenOffice.org Writer Table
	Automatic Protection of Indexes and Tables
	Turning on protection
	Turning off protection

	Protecting frames, graphics and OLE objects
	Protecting Drawing Objects and Form Objects
	Turning on protection
	Turning off protection

	Protecting Records

	Changing Defaults and Other Configuration Items
	Saving Configuration With Document
	Inserting and Editing Tab Stops
	Moving Tabs on the Ruler
	Changing the Properties of Tabs
	Deleting Tabs
	Changing the Defaults


	Changing the colour of Text
	Inserting Landscape pages into a Portrait-oriented Document

	More on Templates
	Changing Default Templates
	Modifying Default Templates
	Resetting Default Templates
	Using Custom Templates

	Access to servers via WebDAV and FTP protection

	Chapter 10: Introducing OpenOffice.org Basic and Macros
	Accessing the Sample Macros
	Calling the Sample Macros
	Editing the Sample Macros

	The Sample Macros
	AutoText
	ChangeAllChars
	GetTexts
	ReadDir
	Userfields


	Chapter 11: Using OpenOffice.org Math
	Formula Entry
	Tool bar
	Command Icon Box
	Command Dialog Box

	Creating an Equation with Dialog Commands
	Special Formating
	Exponentiation:
	Subscripting:
	Leading and trailing superscript and subscript:
	Center subscript / superscript:
	Under brace / Over brace:
	Various types of Brackets

	Special Characters
	Special Operators
	Integral Sign:
	Summation Character:
	Product Character:

	Vectors and Matrices
	Vector
	Matrix

	Formatting
	Size
	Colour
	Layout
	Alignment

	Examples

	Chapter 12: Troubleshooting Common Problems
	Error Message contains “Get Storage:  "No Content"”
	Under Windows®
	Multi-user installations:
	Single-user installations:

	UNIX systems

	Outline numbering is not retained after a save.
	How get the page count to not count a title page? (How do I offset the page count?)
	What to do when your document prints or exports to pdf with blank pages after a page break

	Public Documentation License, Version 1.0

